3-Digit Minus 3-Digit Subtraction (I)

Name:

488 — 333 =
932 —475 =
379 — 338 =
934 — 230 =
748 — 575 =
898 — 281 =
776 — 727 =
781 — 602 =
757 — 299 =
518 — 299 =
349 — 112 =
953 — 647 =
753 — 442 =
785 — 231 =
628 — 380 =
604 — 201 =
354 — 342 =
855 —395 =
692 — 301 =
550 —-173 =
788 — 550 =
691 — 249 =
581 —402 =
285 —244 =
713 — 410 =

Calculate each difference.

926 — 289 =
602 — 339 =
398 — 287 =
874 — 517 =
539 — 456 =
556 — 325 =
461 — 267 =
814 — 267 =
763 — 132 =
849 — 105 =
890 — 133 =
088 — 424 =
506 — 291 =
439 — 217 =
765 — 471 =
880 — 781 =
928 — 330 =
935 —-831 =
447 — 185 =
792 — 739 =
506 — 155 =
872 — 534 =
770 — 703 =
594 — 289 =
952 — 599 =

Score:
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3-Digit Minus 3-Digit Subtraction (I) Answers

Name: Date: Score:

Calculate each difference.

488 —333 = 155 926 — 289 = | 637
932 — 475 = | 457 602 — 339 = | 263 |
379 —338 = 41 398 —287 = 111 |
934 — 230 = 704 874 — 517 = | 357 |
748 — 575 = | 173 539 —456 = 83 |
898 — 281 = 617 556 — 325 = | 231 |
776 — 727 = 49 461 — 267 = | 194
781 — 602 = 179 814 — 267 = 547
757 —299 = 458 763 —132 = 631
518 —299 = 219 849 — 105 = 744 |
349 — 112 = 237 890 —133 = 757
953 — 647 = 306 988 — 424 = | 564 |
753 — 442 = 311 506 — 291 = | 215 |
785 —231 = 554 439 —217 = 222
628 — 380 = 248 765 — 471 = | 294 |
604 — 201 = 403 880 —781 = 99 |
354 —342 = 12 928 — 330 = | 598 |
855 —395 = | 460 935—831 = 104 |
692 — 301 = 391 447 — 185 = | 262
550 — 173 = | 377 792 —739 = 53 |
788 — 550 = 238 506 — 155 = | 351 |
691 — 249 = | 442 872 —534 = 338
581 —402 = 179 770 — 703 = | 67 |
285 —244 = 41 594 — 289 = | 305 |
713 — 410 = 303 952 — 599 = | 353 |
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